2 +2)2+ (x+2)Bx-1) = Bx-1)2 = —(ax + b)(cx + d) & T,

ab + cd 9 TE& A7 (H, a, ¢ & FF)

@1 o3 ® 0 @ 2 ® -2

B )
x+2=A, 3x—1=B= X|&slH

2A% + AB-B? = (2A-B)(A+ B)
=(2x+4-3x+1)(x+2+3x-1)

=—(x-5)(4x+1)

sab+ed=1x(-5)+4x1=-1




o2 5 23?2 — X%y — x% +xy 9 150

@x-1 @x+1 @ y+1 @ xty O x-y

Py? =%y —xy® +xy = wy(xy —x—y+1)
=xy {x(y-1)- (-1}
=xy(x=1)(y-1)




=3+ V8, y=3-B I («+y)- (" -y)? o] G2,

® 1 @ 2 @3 @ ® 5

(6" + 372 = (2" = y")?

= (" +y" + X" =y (" +y -2+ )
— 2x" X 2)" = 4(xy)"

=03+ B)B-V8) =1

S Axy)t =4




2x+2)2 +2(y-3)2 ol 71 T
4. 1 20-3) =4 4o, x—y 9 g Fstoft

[
= ]

>
> AP x—y=-5

&8

x+2=X, y-3=Y & X&o}H
2x+2)2 +2(y-3)?  2x>42r?
(x+2)(y-3) XY
2X%2 —4XY +2Y? =0, (X-Y)? =0
X-Y=x+2-y+3=0

L x-y=-5

4




5.  —1152 - 752 4 252 4 1852 & AlAtsto]at.

> &

> =D 16000

B

-115% — 75 + 252 + 1852

= 1852 — 1152 + 252 — 752

= (185 + 115) (185 — 115) + (25 + 75) (25 — 75)
=300 x 70 + 100 x (=50)

= 21000 — 5000

= 16000




6. b=ua+2 - V3L, a®+ b+ 4c% - 2ab — 4bc + 4ca ] &
Sstolet,

> &

> Heh: 3

. |
b=a+2c—- V3N a-b+2c= 3
soa? + b% + 4¢? — 2ab — 4bc + 4ca
=a’ + (=b)* + (2¢)?
+2(a)(~b) + 2(-b)(2¢) + 2(2¢) (a)
= (a-b+2c)?
=(V3)2=3




7. —20x+84 7H17 O] vi5 of, ZFAS x O] HEFS otole),
[

>
|> =

ok =

B ,
x2 —20x+ 84 = (x - 6)(x — 14) 7} 17 9] vjs=7} = 2{H
x—6 = x— 14 7} 17 9] #ij5=7} =] ofof gt

ojml, o] RE O] H|Fo|ER x—6=0, x—14 =0 o,
&S Z=th

A4 x & g2

x—6=0Y o2& x=6




wlo] 7zt Aol Aol7}

704 2y - ey A ASTA ]
7Y x - 1,x+ 1 4 o, o] ZA5HA S =o]& FSHH?
@x+y @ x-y? ® x2+y
@ x+y? ® x-y

B

x —|—x2y—x—y

= x2(x+y) = (x+)

= (x+y)(x+1)(x-1) o]t

web 24 @A 0 ol x4 y |tk




